SARMEOLA 6 MONSELICE C 1

RISULTATO SET TOTALE
SQUADRA A SQUADRA X 1 2 3 4 5 SET PUNTI |PARTITE
A X A X A|X X XITA| X A|X|A|X
A ORIO X |ZERBETTO 7116 (11115 11,2 (11| 7 | 3 |2 (46|36 1|0
B |ZANDONA' Y |BELLIZIA 119 (116 11| 9 3/0(33/24/1|0
DP|BIRTI-PATRON DP|ZERBETTO-BUSACCA |11 9 |11 4 |11| 5 3101(33/18/| 1 0
C |BIRTI Z BUSACCA 118 (11| 7 |[11] 6 3/0(33/21/1|0
B |ZANDONA' X [ZERBETTO 11,7 (117 (11| 5 3/0(33/19|/1 |0
A [PATRON Z BUSACCA 1012 4 [11|(11| 3 |11 8 (10|12 2 | 3 46|46 | 0 | 1
C |BIRTI Y |BELLIZIA 118 (101211 8 |11] 9 3111433710
B Z 0|0
C X 0|0
A Y 0|0
TOTALI| 20| 6 (267|201 6 | 1




